Negativa exponenter pa 10

namn: Datum: Poing:
8 x 10% = 0x10=
690, 7 + 1009 = 1 x 100D =
5x 1007 = 707,3 x 1073 =
=3 x 100D = 453,1 x 10 =
369,7 x 1002 = 795, 6+ 109 =
749, 1 x 1073 = 4% 10° =
126,6 x 1071 = 100D =
107 = 682,5 x 1009 =
3x10= 7x10 =
1072 = 1004 =
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ﬁ i %é 7 A Negativa exponenter pd 10

namn: Datum: Poing:
8 x 10% = 800 9 x 10 = 90
690, 7 + 10°% = 6907000 1x10°Y =0.1
5x 1072 =0.05 707,3 x 107 = 0.7073
—3x 107" =-03 453,1 % 10> = 45310
369,7 x 1002 =3.697 795, 6+ 107% = 7956000
749, 1 x 107 = 0.7491 4x10° =4
126,6 x 107" = 12.66 1079 = 0.1
107 = 0.001 632, 5 x 107 = 0.6825
3% 10 = 30 7 %10 = 70
107% = 0.01 107 = 0.0001
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